FgArea: ['E']
NC11 P6
2025-04-10 (Day 5)




Vi

Vo

800 ~

600

400 ~

200

Vi
Vo

800

700 -

600

500

400 -

300

200

100

- N
- —
=
=>
N
+ - o
T T T T T T T T
o o o o o o o o o
o o o (=] o o o o
(e} ~ © o < ™ N —
||||||||||||||||||||||||||| Te)
- <
- ™
- N
- —
=
>
—
+ r o
o

700 -
600 -
500 -
400 -
300 -
200 -
100 -

||||||||||||||||||||||||||| S Te)
<
- ™
N
- —
o
o
N
+ 4
T T T T T T T T
<) ~ © Te} < ™ N — o
o o o o o o o o o
o o o ©c ©o o o o o
|||||||| N Te)
- <
- ™
- N

1 0IR

——
T
0

0. 25 -

0. 20 -

0. 15 -

0010 F+———————————————



L _
>
a
1]
>
=
N ()
o
®
T T T T T T T T
o o o o o o o o
S S S S S S S S
e} ~ © Tp) < ™ N ~—
([ BN
L
>
a
1]
>
>
® ®

800
700 -
600
500
400 -
300
200
100 -

1000 1200 1400 1600 1800
DU

800

600

1000 1200 1400 1600 1800

800

DU

- AN
L —
-
[
N
+ - o
T T T T T T T T T
7o) o ) o ) o ITe) =) 1)
Irs) Irs) < < 3] ® I I —
o o o o o o o o o
||||||||||||||||||||||||||| T
- <
- o
BN
L —
o
[
+ - o

0.4 -
0.3 -
0.2 -
0.1

||||||||||||||||||||||||||| -
<
- ™
- N

> - —

i)

[0}

(&)

N

+ r o

T T T T T T T T

o o o o o o o o

o > [ee] ~ © Lo < ™

—

||||||||||||||||||||||||||| - o
- <
- ™
- N

> L —

]

[}

(2]

+ r o

T T T T T T T T T

o o o o o o o o o

(=] © ~ © Yo < (a2} N —



1 (fgArea = NA) 2 (fgArea = NA)

| I
9750 4 —@—  ECI*10% ! 2750 1" —@—  ECI*10% !
ECO I ECO i
2500 - l 2500 - |
| |
| |
2250 i 2250 - I
| |
2000 : / i
| |
1750 - I |
! 1750 - :
1500 - | :
| 1500 i
1250 - : :
! 1250 |
1000 - I |
| |
T T T T T ! 1000 - T T T T T !

0 1 2 3 4 5 0 1 2 3

d d

7.2 4 i 7.2 A 1
—@—  PHI*10% ! —8—  PHI*10% !
T 0- PHO | 704 PHO |
| |
| |
6.8 - : 6.8 - :
| |
| |
6.6 i 6.6 - i
I I
| |
| |
6.4 i 6.4 i
| |
| |
6.2 - : 6.2 - |
I I
| |
6.0 : 6.0 :
| |
| |
5' 8 B T T T T T % 5 8 B T T T T T %

0 1 2 3 4 5 0 1 2 3



3500

3000

2500

2000

1500

1000

500

Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

[’ EcFgro’,

"EcPltng’

is missing

25

50

75

100

125

150

—>— EcFzExp
—>é—  ECdef
—>— water_ec |

175



Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

—@— ECopt

25 50 75 100 125 150 175




Plot Sensor and FgRec Data

I
—o— dFVI :
0. 04 1 dFVvo 1
|
|
|
0.02 |
|
|
|
0.00 :
|
|
0. 02 :
|
|
0. 04 :
|
T T T T T T T !
1.5 2.0 2.5 3.0 3.5 4.0 4.5

day

2600 1 —y¢ - fz_stock _ec
—@— ECC
2400 XX X KR

2300

2200 -
2100 -
2000 4 = 2 st—
1900 -

1800 ~

1.5 2.0 2.5 3.0 3.5 4.0 4.5
day

7.2 A
—>&—  PHB*10%

7.0 4 —@— PHC

)( )( x VIRVAV V) S, x VIRVAV V) SN (VR V2 SN SN (VIRV} S
INTINIWN 78 7N ANEAXA L) 7N CANEEAY A NNES] 7

6.2 1 /’.\o‘/\.v

3
3

1.5 2.0 2.5 3.0 3.5 4.0 4.5
day

200 -

180

160 -

140

—o— DUC

120 o J { 2 J

1.5 2.0 2.5 3.0 3.5 4.0 4.5
day

wl 1T 1 —

260 -
240 -

220

200 - u Vs —o— FRV

—&— FRC

1.5 2.0 2.5 3.0 3.5 4.0 4.5

11.87 _o fw

11.4 4 /

11.2
11.0

10. 8

1.5 2.0 2.5 3.0 3.5 4.0 4.5



['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

vV

175

150

125

100

75

50

T
+ — — o
o (6] <C +
o — _ ©
= T — w o
x o o + -+
5% 3
o o o) o o
~ -__ ~ ~ - ~ °
M — — — —
-
o o o o
) Irs) ) Irs)
- - - -
\ I
Te) Te) Te) Te)
I I I I
— — — —
)
o o o o
o o o o
_ et et et

W

75

75

75

75

~/

50

50

TV VAN

50

50

175

150

125

100

75

50

Plot [['I",

25
25
25

A VAN N WAV VWA T

\~

Y
ViV
-
/

> e SR S N / N

25

o o o o o [ee] © < N o e} © 1o} o Lo o [Te} o o o o o o Lo o Lo o o o Lo N o © ©
< ™ ™ N o e} © < N ™ ™ N N — — o — — o o
—

0.4



250

200

150

100

50

d

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
L / é © © o o © e o
o—° E
I
1
: —@— setVI_ETcl
1 —0— setVI| _fgRec 1
: —@— setVI_VN
: —@— slSetVI |
]
I
? @ @ @ @ @ @ @
I ﬁ % —O— f ——
. : @ @
8 10 12 14



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2600

2400

2200

2000 -

1800

1600

1400

—8— ECC
—o— ECI

arning: col ["FVIEC'] is missing

0.0

0.5 1.0

1.

5

2.0

2.5

3.0

3.5

4.0




Plot [['FVOEC:r-o’, 'ECO:g—o’]]

2000

1800

1600 ~

1400

1200 ~

1000

—&— ECO

arning:

col["FVOEC ] is missing

0.0

0.5 1.0

1.5 2.0

2.5

3.0

3.5

4.0




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

6.5 - © @ @ O )
6.4
6.3

o o
6.2

" PHO Warning: dol ['FVIPH'] is missi

6 1 | PH| arning:. co 1S missing

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

—&— PHO

Warning: col

[’ FVOPH’ ]

is missing

0.0

0.5

1

0

1.

5

2.0 2.5 3.0 3.5 4.0




Trend plot forP6AE_E

Warning: col [’midFVIraw',

"minFVOraw'] is missing

minFVI
minFVO

o ETcAlraw
—  ETcA1
—@— ETcA

@
[ ET¢A2raw’,

i [ )
Warning: col
[ |

@
"ETcA2'] is missing

0.4

0.6

Warning: col [ ETcA2raw’,

"ETcA2avg’,

"ETcA2' ] missing

0.0

2500 -

1750 ~

1500 ~

2250 - T
>—o—/ °
2000 -

[ ]

ECopt
ECC
ECI
ECO

XX

6. 45

6. 40

6. 35

6. 30

6. 25

6.10

PHopt
PHC
PHI
PHO

XX

31.5 A

31.0

30. 5

30.0

—@— WCperM

29.5

29.0 -

28.5

ettt S A k. i B ittt

Warning: col ['WCdeeraw',

"WCperMavg'] is missing

0.50

0. 45 -

0. 40

0. 35 -

0.30

——
+
——

minDe | taM
avgDeltaM
stdDeltaM

0.25 A

0.20 p—@ L 4

30

28 A

26 -

¢ o begM 1
——
+

maxM
minM

24 A

22 -

4 4 L 4 o——

adjFVOR

—0. 02 ~

—0. 04 ~

e et T . . St T it sttt U ahe

Warning: col [’ ad_IFVIRraw’,

"adjFVIR', "adjFVORraw'

] is missing

'?

[} FRA

[ FRC

[ ] FRraw
— FR

—0— LAl

58 -

56

54

52

50 A

48

46

44

[3; T S S S AU AN DESE—— —

10

15

20

450 -

400 -

350 ~

300 -

250 ~

200 -

150

100

o postFgEt
—@— postFgEt
—@— postFgEt

raw
avg




100

FgDaily

o




— ®
[Ge]
-
w o

o

\\\i/

0000000
0000000
7777777

22222
1111111

555555
888888

000000
55555
N N — —




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

| |
ETcl ETcldef ETcP ETcPT ETclis

ESo

ETol

ETbai

pR

1.00

0.75

0.50

-0.25

-0.00

--0.25

-0.50

-0.75



ETcl

ETol

450 A

400 ~

350 -

300 -

250 -

200 -

150 ~

100 -

1000 -

800 -

600 -

400 -

22 A

21 -

20 -

= 19 1

RH

VN

18

17

16

e

85 -

80 A

75 -

70

65 A

60 -

0]

700 -
600 -
500 -
400 -
300 -
200 -
100 ~

340 -

320 -

300 -

280 ~

T
100

T
200

T
300
ETcl

T
400

T
400

T
600

T
800
ETol

T
1000

16

18

70
RH

80

T T T
0 200 400 600

VN

280

300

320

340







P6AE

BFE) | GEBRTIK (30) | ElE (EA/H) | XS SRR

06:35 240 60. 0 5 FiHH@06:35 (FKRF1EEZS)
07:35 240 60. 0 5 Fi#R@07:35 (FRAAIEEES)
=it 480.0 (2%) 120.0 32iSHKEC: 2255.0, PH: 6.5

E;%EC (2080.0 vs 2185) 1w1E




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E, Day=5 (2025-04-10)

VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
- 1000

0.4_ _500

4 21
0.2 80 109

l8 00 00|

TargetEC=2300. 0,  TargetSetEC=2255. 0

TargetPH=6. 5, TargetSetPH=6.5

| 300
1

1
100 ByWoFy @D5 03}21: ET=109 Fg=120.0 Ro=5.0 200

50 p——@ ® @ - 100

cumET (ml/plant)

1.0

ES ES 1= E3 ES ES 1= E3 ES E3 1= E3 ES ES 1=
0.8 4 8 g g i i g g i i g B A B B B A B B B A B B B A

0.6 1

A A Warking:A;oI [Al obe™, 'PPFD obs’] is missing

25 -
20 A

15 A
, 'To_obs’] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is miss]

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)



hour

8:45

10:10

11:40

12:55

14:05

100

80

60

40

20



P6AE

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | KB SR

08:45 175 70.0 1] B318@08:45 (KF{EREE)
10:10 175 70.0 (2= B18@10:10 (KRFEREE)
11:40 175 70.0 |& & Bi%011:40 CGREERSE)
12:55 175 70.0 5 Bi&012:55 (REERSE)
14:05 175 70.0 = B2i8@14:05 (KREERSE)
Bit| 875.0 (5'%) 350.0 3ZHKEC: 2365.0, PH: 6.5

EREFRRA (1.47) , FETE

MEREHERE STHAE AR (281.0 : 70.0), AJEEKEBEERE
ZRIASERRIERE70. 0 ml.

[B;&%EC (1910.0 vs 2185) RIK



P6AE_E, Day=4 (2025-04-09)

604 VL VRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 1129
L 1000 ~
40 ©
£
- 500
20 2 83’ =
4012 Warning: lcol [FVI',| "FVO’'] missing 808
0 1 i - 04
_ ( o vi — ME #
T 300 + FRV maxM
.E B 52
2 200 - -
— =
£ L 50
= 100
O [ o e e o o e o )l o b o S g ] e T, e e e e
[
1.0 48
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2808 1 o 4
TargetEC=2300. 0, TargetSetEC=2365.0 > ECB*10%
o o ECC
[ )
2400 B Y N \NZ. AV AV D o o ———— i — —— — i — — i — o —— — ———
2200 %
[ )
7.04 TargetPH=6.5, TargetSetPH=6.5 %—  PHB*10% [*
L ® PHC
B. § A e e e e e e e < > > e ME—
[ )
6.0
[ ] o
1
_ 150 4By Init @D5 03*21: ET=440 Fg=490.0 Ro=53.0 b
P I )
2 : - 600 £
— 1 —
£ 100 1 I N
z : 400 £
= 1
£ | Y |
= 504 : /I ﬁ\ - 200 £
[in] 1 o
b © @ 4 @
0 P PN P : P I e 0
150 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= A | BB | FR | BB | BB | FE | BH [ BB | BA | BH | BB | BH | BH 5 5 5 5 5 i 5 5 5 B 5 600 2
c 1 B c
(—:_ 100 ByEt @D4 18:35: ET=351 Fg=280.0 Ro=nan : L;_
~N 7] ~
é | @ *—@ 9 L 400 =
E | —e—o o —9o —eo oo =
= 504 | 200 'E
Y h—e—0—eo—o—o—o— | ©
(| S U WD U W WS—" S ——— B 0
150 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= BH [ BH | FR | BH | BB | FR | BB [ BB | PR | BA [Z=|&=| B 5 i 5 5 5 i 5 5 5 B 5 600 2
c 1 B c
=2 ByWoFv @D5 03t21: ET=337 Fg=350.0 Ro=44.0 =2
£ 100 1 I N
= 1 & —@ L4 - 400 £
S : @ © @ S @ © S
£ |
£ 50 - : - 200 ‘£
Y b—e—eo—or—o0—0—o - 3
e 2l o B S N —
1.0 0 1 2 3 44 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
osl M | BA | BB [FA | PH | BA [BR[FA | FH | BA [BEX[ZE| BB 5 i 5 5 5 i 5 5 5 B 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1000 - ([ ] | _obs
—@— PPFD obs
500 -




49 -

M_E

500

T T T
600 700 800

m=895,m FV0=0

T
900

51.5 4

51.0 -

50. 5

50. 0 -

49.5

49.0 -

——

M_E

895

900 905

m=490, FV0=0

53 4
—— M_E
52 -
51 4
50
T T T
490 495 500

m=655, FVO0=0
—e— ME
52.5 -
52.0 -
51.5 -
T T T
655 660 665

m=760, FV0=0
52.5
—&— M_E
52.0 A
51.5 4
51.0 -
50. 5 -
T T T
760 765 770




hour

7:20

8:40

10:05

11:15

12:20

13:40

100

80

60

40

20



P6AE

BfiE) | EBETK (D) | EE (EH/AR) | XK R

07:20 210 70.0 (2= B1%@07:20 (KRFEERSE)
08:40 210 70.0 (2= {B318@08:40 (KF{ERLEE)
10:05 210 70.0 5 B1%010:05 (RFERSE)
11:15 210 70.0 (2= Bige11:15 (REERSE)
12:20 210 70.0 (&= BRi1&@12:20 (RFERES)
13:40 210 70.0 | = RRi%@13:40 (KRAERKES)
B4t 1260.0 (6%) 420.0 3ZHKEC: 2200.0, PH: 6.5

WAERERRA (1.47) , BHRE

TeREHLERE STHAERT (281.0 :

ZRIASERRIERE70. 0 ml.
[O];%EC (1570.0 vs 2185) 1RIK

70.0), AREIKRBERMAE




P6AE_E, Day=3 (2025-04-08)

------------------------------------------------------------------------------------- L 3000
604 VI VEFRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET
L 2000 &
40 - —
E
1064 ~
20 - 780 —1000&
2 Warning: I ['FVI', "FVO'] missi 9419
46 arning: co , missing 4012
0 = - 64
_ ( mm v — ME P
- 300 7 FRV
+
C
[\v]
= 200 -
E
= 100 -
[
L
1.0 = = = = 48
4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
22'08 )
1 TargetEC=2300.0, TargetSetEC=2200. 0 ——  ECBx10% [t
L ® ECC
2200 A e e e e e e e ¢ S SNy EE S —
2000 -
1800
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
® PHC
- < > > Pk
° °
6.0 - ° o
_ i ; 800
= 150 4By Init-@D5 03:21: ET=485 Fg=490. 0 Ro=57.0 =
s | [ 600 S
2100 - : <
< i - 400 E
E l 5
= ! - 200 §
L 1 o
p— & ——o-+—&
0 p—a S ol o
0 | 1 51 31415161 78 ]9 0] 12[B3] 4151617181972 ]2 272 Fo
S50 HE | W | W (B | W | M | R | | fs | # | | ms | R | s | RE | Fe [ F& | A | B3 | A | B | BB PR B 5
c 1 B <
s ByEt @D3 18:30: ET=341 Fg=294.0 Ro=nan I 000 5
N 100 ~ ~
< - 400 E
£ 50- L
— - 200 E
(NN} [&]
& ———o—©
O_I_. v~ — =N V- i
0 | 1 51 31 415161 7 8 o 0] 123451617 ]18]197]2 ]2 2272 Fo
S0 HE | | % B3| % | B |B5x|55 52| % | % (B5nl|55 5555 B | B | W [ B [ B[ ®B[®B[®E]H#A -
< 1 | c
s ByWoFv @D5 03:21; ET=419 Fg=420.0 Ro=39.0 000 5
> 100 A : =
< N ® @ ® @ ® ® L 400 E
E 1 [l
~ 50 ~ 1 S w
— : - - 200 E
(NN} [&]
o —& —e+—o o L
1.0 P Sl o o — 0
0 | 1 2 | 3| 4] 5] 6] 7 81 9 |10 11 [12]13][14]15]16] 17 ] 18] 19 ] 20 ] 21 | 22 | 23
0sl B | B | B (B2 | B | B |32 57|52 % | & (22122122122 B | B | W [ B [ B[ B [®B[HB|#
0.6 -
0.4
0.2
1808 1 — 4
[ ] | _obs
—@— PPFD obs




M_E
T T T T T
500 600 700 800 900
m=880,m FV0=0
52.0 - — NE
51.5 -
51.0 -
50. 5 -
50. 0 -
49.5
T T
880 885 890

m=490, FV0=0
53 - —o— ME
52 -
51 -
50 -
490 495 500

m=635, FV0=0
—o— M_E
52.5 A
52.0 -
51.5 A
51.0
50.5 T T
635 640 645

m=730, FV0=0

52.5 4

52.0 A

51.5 4

51.0 A

50. 5 A

50.0 -

——

M_E

730

T
735

740




hour

100
7:35

8:35 80
10:00

- 60
11:10

- 40
12:15
13:20 20

14:25




P6AE

BfiE) | BRI (FD) | E=E (EH/ER) | XK R

07:35 210 70.0 |8 = BRi%e07:35 (RFIFERER)
08:35 210 70.0 |Z = {B31&@08:35 (K F{EREE)
10:00 210 70.0 (2= B31£@10:00 (KAL)
11:10 210 70.0 5 Big011:10 (REERSE)
12:15 210 70.0 5 BRi&@12:15 (RFEREE)
13:20 210 70.0 5 Bi%@13:20 (KREERSE)
14:25 210 70.0 5 Bi&e14:25 (KRFEAEREE)
2it| 1470.0 (7% 490. 0 EGHKEC: 2200.0, PH: 6.5

BATIRERA (1.48) , B8
FRABALER 2 5 IME R (292.0 :

&

EOREBIRTC R IRAE R 2 (210.0 vs 175.0))

2RI\ LBRERE84. 0 ml.

84.0), AIREKRFBERME

RERELEC (2006.0) S5FMEC (1545.0) REH KL, EBHRE

EI3&KEC (1145.0 vs 2185) 1w1E




------------------------------------------------------------------------------------- L 3000
604 VI VB¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2631
L 2000
40 -
204720 780 §732 [ 1000
I 15 Warning: col ['FVI", "FVO'] missi 2
46 arning: co VI, VO’ ] missing 6
0 = = -0
_ ( o vi — ME 54
— 300 1 FRV —— maxM
+
C
©
a 200 i w
@ 200 52 5
E
= 100 -
E ———————————————————————————— e e e e il e e el e e el e ——— 50
o i n i
4
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2908 Fom————E—————F = ——F——————F——————F-—————F-—————f——————F——————f——————f——————f—————] A
TargetEC=2300. 0, | TargetSetEC=2200. 0
2100
2000 - —R . 2% s
1900 1 —¢—  ECB*10%
® ECC
1800 -
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
® PHC
T e e Y e 6 R
°
° ° o0
° °
6.0 -
1
1504 Bylnit @05 03}21: ET=218 Fg=180.0 Ro=22.0 1000
c 1
s I L 750
<100 :
< : - 500
£ 50 I —o—o—o—o—=o
— I - 250
o — o o o o e © o o o o o e o
0 P PN P I P P GRS e 0
0 [ 1 | 2 [ 3| 4 |5 [ 6 [ 7 | 8] 9 [10] 11 [12]13] 141516 ] 17 ] 18 [ 19 | 20 [ 21 [ 22 | 23 | {00
SO | 7 [ W [ A | % | # | f | | # | A | A | A5 | 6 | #5 | A& | #e | A5 | B | R& | A& | #& | A5 | & | &
c 1
2 ByEt @2 18:05: ET=175 Fg=732.0 Ro=nhan oo o o oo o |50
£ 100 - 1
< —® 500
\.E/50_
= - 250
o -& e e o
O_I—‘ - - L V- V=N — 0
0 [ 1 | 2 | 3| 45 [ 6 [ 7 89 [10][ 11 [12]13] 141516 17 ] 18 [ 19 [ 20 [ 21 [ 22 | 23 | {00
ST W [ W | W 2212722225752 52| 0 | i | B | 65 | o6 | o5 | #5 | A6 | 65 | B | A& | A5 | @&
= 1
-2100 ByWoFv @D5 03;21: ET=447 Fg=490.0 Ro=53.0 - 750
2 100 -
o 1
< : - 500
S 501 I
— I - 250
Ll 1
p—o—6—o-+
1.0 11515 0
el BB [ W [}
0.6
0.4
0.2
|
| _obs
PPFD_obs

P6AE_E, Day=2 (2025-04-07)

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T T T T
500 700 800 900 1000
m=655,m FV0=0
52. 50 A - M_E
52. 25 A
52. 00 A
51.75 A
51. 50 A
51. 25 A
T T T
655 660 665
m=850,m FV0=0
52.0 A - M_E
51.5 4
51.0 A
50. 5
50. 0
850 855 860

53.

53.

52.

52.

51.

51.

52.

52.

52.

52.

52.

51.

52.

51.

51.

50.

m=490, FV0=0

——

M_E

490

T T
495 500

m=670,m FV0=0

——

M_E

670

T T
675 680

m=910,m FV0=0

——

M_E

910

915 920

53.0

52.5 -

52.0 -

51.5 4

51.

51.

51.

51.

50.

50.

52.

52.

52.

51.

51.

51.

51.

m=580, FV0=0

——

M_E

580

T T
585 590

m=750,m FV0=0

75

50 -

25 A

00 -

75 -

50 A

——

M_E

750

T T
755 760

m=940,m FV0=0

50 A

25 -

00 A

75

50 -

25 A

00 -

——

M_E

940

945 950

53.

53.

52.

52.

52.

52.

52.

52.

52.

52.

51.

51.

51.

51.

m=590, FV0=0

——

M_E

590

T T
595 600

m=765,m FV0=0

——

M_E

765

770 775




hour

100

8:05
9:05 80
10:20
- 60
11:25
- 40
12:30
13:35 20
14:55
1 1 1 1 _O
% & & B XS B
FFFELSES




P6AE

BfiE) | BRI (FD) | E=E (EH/ER) | XK SRR

08:05 210 70.0 = BR1%@08:05 (KRFIFERLEE)
09:05 210 70.0 = B21%@09:05 (KRFAEHZE)
10:20 210 70.0 = B11£@10:20 (KL
11:25 210 70.0 5 Big011:25 (REERE)
12:30 210 70.0 5 Bi%012:30 (REERSE)
13:35 210 70.0 5 Bi%@13:35 (KREERSE)
14:55 210 70.0 (2= Bi&@14:55 (RFERE)
2it| 1470.0 (7% 490. 0 EGHKEC: 2200.0, PH: 6.5

WKFEERRRA (1.5) , BT

FeREHLERE STHAEART (289.0 :

EOREBIRTC R IRAE R 2 (210.0 vs 175.0))

2RI\ LBRERE84. 0 ml.

84.0), AIREKRFBERME

FERZEBIEC (2005.0) 5FEMEC (1270.0) BERK, BHE

[E3®EC (900.0 vs 2185) {R{K




P6AE_E, Day=1 (2025-04-06)

-------------------------------------------------------------------------------- vaaa T 3000
60 - VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
1759 - 2000
40 -
i 720 732 [ 1000
20 480 24
I36 134 Warning: col ['FVI’,|"FVO'] missing I 6
0 + - -0
( o ) —— ME HBs6
— 300 1 FRV —— maxM
+
s L 54
a 200 + Ll
— =
E - 52
= 100 -
T e e B B | it | It | i | DAl i B B B L 50
o | | |- | | P 11
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2908 Fom————E—————F = ——F——————F——————F-—————F-—————f——————F——————f——————f——————f—————] A
TargetEC=2300. 0, | TargetSetEC=2200. 0
2100 -
2000 - e * — oo
1900 1 —¢—  ECB*10%
[ ) ECC
1800 +
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
o PHC
- M e e 6 M A
o (] [
o [ ) [
[
6.0
300 : ! 4
= Bylnit @D5 03:21: ET=200 Fg=110.0 Ro=0
c : - 1000
200 :
o 1
< 1
p— I -
E 100 - i 500
o | B ¢
oo —ol oo o O—M & S
P P al o P P - 0
3087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
> B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A
c 1 - 1000
%_200_ ByEt @D1 18:06: ET=257 Fg=915.0 Ro=nan @ 1 @
N
< 1
>~
£ 100 500
o
p— & © ®
A P2\ A A V= 0
3083 0 T 71 2] 3134
= BB | B | B[/ |8
c 1 - 1000
< 200 4 ByWoFv @D3 03}21: ET=424 Fg=490.0 Ro=52.0
N
o 1
< 1
p— I -
E 100 - i 500
— 1
Ll 1
[
1.0 ’___d: : g‘l : :t :E ° e 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0&-% g fg i g g g |Z=| B g i 5 5 REERERERREG REAREFANES RERS
0.6 -
0.4 1
0.2 A
0.0
1500 ¢ —_ 1
[ ] | _obs
1000 - —@— PPFD obs
500 A

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



54.

54.

53.

53.

53.

52.

52.

51.

51.

T
800

T
700

T
900

T
1000

500
m=655,m FV0=0
—&— M_E
5
0 -
5
0 -
655 660 665
. m=850,m FV0=0
—&— ME
5
0 -
5
0 -
360 855 8é0

m=485, FV0=0

55. 5 1

55.0 -

54.5 4

54.0 A

53.5 -

53.0 A

—0—

M_E

450
m=670,n FV0=0

T
485

T
495

54. 50 A

54. 25 A

54. 00 A

53. 75 A

53. 50 A

53. 25 A

—0—

M_E

675
m=910,n FV0=0

670

T
680

53.0 A

52.5 4

52.0 -

51.5 4

—0—

M_E

910 915

920

m=580, FV0=0

55.5 -

55. 0 -

54.5

54.0

53.5 A

53.

53.

52.

52.

52.

52.

51.

53.

53.

52.

52.

52.

52.

—0—

M_E

580

5é5
m=750,n FV0=0

T
590

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

——

M_E

750

7%5
m=940,n FV0=0

T
760

25 -

00 ~

75

50 -

25 A

00 ~

—0—

M_E

940

945

950

m=590, FV0=0

55. 4 -

55. 2 -

55.0 A

54.8 -

54.6

—0—

M_E

590

5é5
m=765,n FV0=0

T
600

53. 75 A

53. 50 A

53. 25 A

53. 00 A

52. 75 A

52. 50 A

—o—

M_E

765

770

775




